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Writing Equations

wen 2 Points
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Math Blitz THURSDAY
4:30-6:30PM. If you received an
invite and do not attend: you will
receive a zero. You MAY attend if
you were not invited or work
through the packet of information.

Quiz Friday!

How can |
use a TI-84 to write the

equation of a line?
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Algebra I - Unit 4: Topic 1 — Writing Equations of Lines
Student Practice - Writing Equations of Lines

Write an equation of a line for each of the following situations:

1. 2.

x y x v
-3 0 -0 | -3
0 6 = | 3
3 12 o S

3. Using the graph below, write an equation for a line passing through the pith the

same slope as the line graphed below.

: g N _5,8
M= a . <x5|9\

\ \5~\5\:m(X—XD
I IIITIE TANEEREEAER _8;-_5(;\—(-6»
‘~8= ’3(X1—6)

©

* Z P
4, Wrige a linear equation that includei@;oi -2) a

2
5. Write the equation of, i -intercept farm with a slope.of —— that passes through the
point (5, 7) \SDI\I l \f‘sé/
(=20 :

F==2 42
a-n i o
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Algebra I - Unit 4: Topic 1 - Writing Equations of Lines

6. The weight, w, in pounds, of a stack of books is dependent on the number of books, n, in the
stack. This table represents the weight of four different stacks of books.

Number | Weight
of in
books | pounds
(n) (w)

4 10
6 15
10 25
16 40

Write the equation of the line that represents this data.

7. Write an equation of a line with a slope of -4 that has an y-intercept of -3

8. Write the linear equation of the line passing throught points R and S

] \=2
31
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1. Choose any two ordered pairs from the table
at the right to find the slope.

' x y Slope:
|' i <@ 42

4 £ n

LS L

% Anha %=0

Identify the p~intercept forthe relationship shownin the table. £= 3

Write the equation in slope-intercept form. \ﬁ 2.7\ _\_3




3 Tables or 2 points.notebook December 03, 2014

Essentlg];guesﬂm How can | use a Tl-84 to write t-he equation ¢

Tihd Equatiohs from poihts/tables using your calculator
1. Press STATthen press ENTER

2. Putx-valuesin Liandy-valuesin L |
(Press ENTER after each value) E i
3. Press STAT,Right Arrow to CALC, i
press 4 (LinReg), ENTER to “Calculate”
4. avalueis your slope |
E 9. b valueis your y-intercept —_— —
To Cleara List: ® o s ?EH C C— ——
1. Arrow to the top of a list ﬁ'ﬁpg:ﬁ“ TESTS T Sorth( SN o
2. Press CLEAR, then ENTER S2orinc ot T ] P
4:ClrList
S:SetlUrEditor S:SetUrEditor
. Lzii=3
1 ®listel
12— UaP Stats Ylistilz
: fMed-Med FrealList:
LinEe3aax=+ha Store RedER:
i QuadRes Calculate
:Cubickes
JGuartRed
I
g=ax+b
=2

b=3
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W
2. Write an equation in slope-intercept form 3. Write an equation in slope-intercept form
for the function represented in the table. for the function represented in the table.
L=\ -]

x | ¥ x |y g=ant+h /
g=gx+h =5 i
a3=1.z2 b=-1& :

2 b=3.7 5 | 13 | g |

)

S ERE e L I VS

4. You can write the equationfrom a data set the same way.

(2, 0), (4, 1), (6, 2)}
AT

— W pg—
+

5.  Write the equation which represents the line that passes through the points (8, 9) and (4, 6) in slope-intercept form _
#0ed 1 po\nYs -3 3
Y= AT
-

89 b vsRca\Cv\EVv
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m= 2 — unde5ined

7. What is the equation of the table?




3 Tables or 2 points.notebook December 03, 2014

=
7. A video store is having a sale on a certain kind of movie. At the end of the first day the store had 250
copies of the movie in stock. At the end of the fourth day there were 130 available in stock. Write an equation

in sIope-intercept.thst models the sale of this movie when d represents days and m represents humber of

X 3: YO X+29D

ile (= —H03x290 |

8. Write the linear equation of the line passing throught points R and S in slope-intercept form.

LS L

— W pg—
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Algebra I - Unit 4: Topic 1 - Writing Equations of Lines

Practice — Writing Equations of Lines Day 2 pp 343-347
Name Date Period

1. Write an equation of the line containing the points (-1, -7) and (1, 3)in slope-intercept form, then graph.

2. Which function represents the line that contains the points (4, -1) and (-4, 6)?

A f(x)—%m%
B f(x)z;;x—%

8 3
C f(x)_Tx—7
D f(x):%sxfg

3. Write an equation that describes the line containing the points (-5, 1) and (0, -2) in point-slope form.

4. Write the linear equation of the line passing throught points A and 8.

5. Bill began his diet when he weighed 268 pounds. After 4 weeks he weighed 250 pounds. Write an equation in

slope-intercept form of the line if wrepresents weeks and prepresents pounds.

December 03, 2014
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Algebra I - Unit 4: Topic 1 - Writing Equations of Lines

Write the equation of each line in slope-intercept form given the table or data set.

6.
x ¥
4] 11
2 23
4 35

8. x y
-7 14
-5 14
-3 14

Answer the following questions.

10. The weight, w, in pounds, of a stack of books is
dependent on the number of books, 7, in the
stack. This table represents the weight of four
different stacks of books. Write an equation in
terms of 7and wthat represents the data in the

table.

Number We.ight

of books n
m pounds

(w)

4 10

6 15

10 25

16 40

7. {(-3,4),(0,10),(3,16)}

9 X y
6
6 8
6 10

11. The table below lists corresponding x and y values

of a linear function. Which equation best

represents this function?

x|y
-3 -11
13
0 1

2] 9

3 [ 13
5|21
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1. y = 5x-2. Don't forget to graph!

| 2. To change a decimal to a fraction: MATH Enter Enter! '
3. m = -3/5. Notice you don't need to solve for y! -
4. The 2 points are (-3,2) and (1,0) }

5. The 2 points are (0, 268) and (4, 250).
6-11 Use LinReg on your calculator! On #9, qII the x-values are the same.

1. Press STAT then press ENTER S -
1 2. Putx-valuesin Liandy-valuesinl2| = @& @ EHElhist., |
(Press ENTER aftereach value) =3
3. Press STAT,Right Arrow to CALC,
press 4 (LinReg), ENTER to “Calculate” plishin!
4. avalueis your slope ResC %E%EE;EEEEQ
5. b valueis your y-intercept Sooo? igag,azﬁgg
] To Clear a List: ot
1. Armrow to the top of a list 000 = ]
2. Press CLEAR, then ENTER 009
°d -1

Man e e -l akinkinkinkinkinkinkinbintinbinhinbiy "-i.-.-l
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